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b

Calculate the result.

a)8-3+6-3=(846)-3=14.3 =142
b)15-645-6=(15+5)-6=20-6= 120
)5-T+14-7T=(5+14)-7=19-7=133
d)2-2+6-2=(2+6)-2=8-2=16

€ 9:6-9-6=(9-9)-6=0-6=0
)15-8—14-8=(15—14)-8=1-8=38
g)10-8—5-8=(10—5)-8=5-8 =40
h)12-3-3-3=(12—-3)-3=9-3 =27
)15-6—11-6=(15—11)-6=4-6 = 24
)2-8411-8=(2+11)-8=13-8 =104

2)

Calculate the result.

a)5-74+8-7=(5+8)-7=13-7=091
b)6-9+7-9=(6+7)-9=13-9=117
)5-4+4-4=(5+4)-4=9-4=36
d)11-94+4-9=(11+4)-9=15-9 =135
)T 247-2=(T+T)- 2:14 2 =28

f)7-4+8-4=(748)-4=15-4=60
g)6-242-2=(6+2)-2=8-2=16
h)3-7+7-T=@B+7)-7=10-7=70

)8-6+5-6=(3+5)- 6:13 6 =178
D2-942-9=(2+2)-9=4-9=36

3)
Calculate the result.

a)7-74+3-7=(7T+3)-7=10-7 =70
b)7-5—6-5=(7T—6)-5=1-5=5
)4-244-2=(4+4)-2=8-2=16
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(9—5)-5=4-5=20

€)9-5—5-5

(3+5)-7=8-7=56

h)3-7+5-7

(8—2)-7T=6-7=42

)8-7—2-7

(5+45)-5=10-5=50

)5-5+5-5
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Calculate the result.

—

~

Il oo 1~
- © b~
-
™ 50
__..
—
~ 0 =
=
— OO0 P~
|~
©o © -
2+ +
1O
<=3
M~
o P -
— .
|2
~ T+
.0 1~
o -
154
= o o

=(7—-3)-9=4-9=236
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7-9—-3-9
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(17—12)-9=5-9=45

17-9-12.9 =
12-4-11-4
g)5-5+5-5

—~

(12—11)-4=1-4=4
(5+5)-5=10-5=50

P

=(12—-8)-4=4-4=16

h)12-4—8-4

(2+17)-8=19-8 = 152
(14—4)-7=10-7="70

2:-8+17-8
j)14-7-4-7

i)
j)

Good Luck!
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